> A
A & 0l & AF 2 E A A
2015EE X2 13 YN AL
SH: AL D
A SIHEM(SYHSLM/5Y - &)

Sl SEMADIUEY (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2483 62,555,059 57,796,530 4,758,529

2 1,211,800 1,210,500 1,300

py 15,065,000 15,065,000 0

p] 1,096,000 1,096,000 0

= 2,989,796 2,349, 170 640,626

Al 42,192,463 38,075,860 4,116,603

SIS (SHHLLL/5Y - 55) 26,088,775 24,686,475 1,402,300

2 11,800 10,500 1,300

Py 12,515,000 12,515,000 0

p] 1,096,000 1,096,000 0

< 1,662, 150 1,432,950 229,200

Al 10,803,825 9,632,005 1,171,800

SEMAIIBEY 26,008,775 24,686,475 1,322,300

2 11,800 10,500 1,300

Py 2,515,000 12,515,000 0

p] 1,096,000 1,096,000 0

< 1,662, 150 1,432,950 229,200

Al 10,723,825 9,632,005 1,091,800

22 A& R 2 551,000 181,000 370,000

= 260,000 30,000 230,000

Al 291,000 151,000 140,000

401 AIEHI L 2T BI 470,000 100,000 370,000

= 260,000 30,000 230,000

Al 210,000 70,000 140,000

01 Al bl 470,000 100,000 370,000

O=et & - 42l (L=300m) 250,000 0 250,000

= 110,000 0 110,000

Al 140,000 0 140,000

OLE B+ = &bl (L=420m) 60,000 0 60,000

< 60,000 0 60,000

022 & - 423 bl (L=300m) 60,000 0 60,000

= 60,000 0 60,000

2] BH b 400,000 400,000 0

Py 320,000 320,000 0

= 27,000 28,000 A1,000

Al 53,000 52,000 1,000
401 AIEHI L 201 bI 400,000 400,000
Py 320,000 320,000

= 27,000 28,000 A1,000

Al 53,000 52,000 1,000

01 A&t 400,000 400,000 0

O IIBHEHI (MUK 7) 100,000 100,000 0

Py 80,000 80,000 0

= 6,750 7,000 A250

Al 3,250 3,000 250

ORISR (ZEXR) 100,000 100,000 0

Py 80,000 80,000 0

= 6,750 7,000 A250




SN AL
B So)|BEM(SEHLSM/SY - 5E)

Sol SEMAIIBEY CER-ED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

A 73,250 3,000 250

OIS EH (LUK 7) 100,000 100,000 0

T 80,000 80,000 0

= 6,750 7,000 250

Al 13,250 13,000 250

OgIIeHEH (e X 7) 100,000 100,000 0

Py 80,000 80,000 0

= 6,750 7,000 250

Al 13,250 13,000 250

ISR EE Y 715,000 714,000 1,000

x 500,000 500,000 0

< 64,000 64,000 0

Al 151,000 150,000 1,000

401 A& HIZL 2O 315,000 314,000 1,000

7y 220,000 220,000 0

= 28,000 28,000 0

Al 67,000 66,000 1,000

01 Al& I 315,000 314,000 1,000

OJNANSB=E T 315,000 314,000 1,000

T 220,000 220,000 0

= 28,000 28,000 0

Al 67,000 66,000 1,000

F:D|grEs 1,941,500 1,941,500 0

oy 1,359,000 1,359,000 0

= 175,000 174,800 200

Al 407,500 407,700 A200

401 A& HIL 2O bl 1,941,500 1,941,500 0

oy 1,359,000 1,359,000 0

= 175,000 174,800 200

Al 407,500 407,700 A200

01 Al& I 1,941,500 1,941,500 0

OMBBARY (20, 2E) 1,941,500 1,941,500 0

Py 1,359,000 1,359,000 0

< 175,000 174,800 200

Al 407,500 407,700 200

A2 A2 2ABIAI (540 &) 50,000 50,000 0

x 35,000 35,000 0

= 4,000 4,000 0

Al 11,000 11,000 0

202 01 bl 10,000 10,000 0

T 7,000 7,000 0

= 800 800 0

Al 2,200 2,200 0

01 2ol bl 10,000 5,000 5,000

OSEMLAY =& 10,000 5,000 5,000

oy 7,000 3,500 3,500

= 800 400 400

Al 2,200 1,100 f,100




2N
X ZH -
L= B
el

AH
SUIBEL (SHSLM/SY - 5E)
SEMAIUEA

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
04 =X =04l 0 5,000 25,000
O=2 da #HIANE 0 5,000 25,000
Xl 0 3,500 23,500
< 0 400 A400
Al 0 1,100 A 1,100
=l Al & 2tel 6,182,275 5,232,275 950,000
401 AIEHIZ 2 HYI 4,970,000 4,020,000 950,000
01 A& HI 4,960,000 4,010,000 950,000
OF& M=Kl F===2=(L=70m) 50,000 0 50,000
OFse 2F=AFH(14) 20,000 0 20,000
Osts 2F=F(14) 20,000 0 20,000
Os& == bl (L=200m) 50,000 0 50,000
OH2 g2 Fdl(L=500m) 50,000 0 50,000
Ot E =2 I (L=60m) 30,000 0 30,000
OEsE Eti==2&HI(L=110m) 40,000 0 40,000
O3dE === FHI(L=180m) 50,000 0 50,000
OulIIE &t +==2F I (L=260m) 30,000 0 30,000
O EM==X12 3 HHI(4Hx) 60,000 0 60,000
OSU Sti==2 FHl(L=400m) 60,000 0 60,000
Ogn 3=z (14 20,000 0 20,000
O#&&E M==Xl ==&l (L=70m) 60,000 0 60,000
Ogtd =2 FHI(L=2,000m) 70,000 0 70,000
OdY M=Xl g 22 (L=50m) 50,000 0 50,000
OZ= =2 HHl(L=200m) 50,000 0 50,000
OX=0t2 =2 FHI(L=300m) 70,000 0 70,000
OF= M=Xl F==Ztl(L=80m) 60,000 0 60,000
O= M=Xl 5===Ftl(L=80m) 60,000 0 60,000
OsgIIEtAIE sXI2eldl(55) 330,000 300,000 30,000
O&AEAHI 20,000 0 20,000
=57 Mat2tel 1,300 0 1,300
= 1,300 0 1,300
201 €24l 1,300 0 1,300
= 1,300 0 1,300
01 AFR 22l 1,300 0 1,300
O=EHl & ALR2eld 1,300 0 1,300
= 1,300 0 1,300
sEHLAH= 80,000 0 80,000
sSEHg 2 80,000 0 80,000
207 & 5101 & H| 80,000 0 80,000
01 2729l 80,000 0 80,000
OgEts a0 ENY HbIA= =& S 80,000 0 80,000




2N A&
M NYE AL BT (LSLDS/EE)
CHel: S 2IA (&2 d &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Hns2
N A8 LY (52 DS/E2) 26,224,380 24,834,380 1,390,000
= 1,200,000 1,200,000 0
Xl 1,450,000 1,450,000 0
T 640,000 560,000 80,000
Al 22,934,380 21,624,380 1,310,000
TEIMA 21,480,000 20,280,000 1,200,000
= 1,200,000 1,200,000 0
Xl 1,450,000 1,450,000 0
T 560,000 560,000 0
Al 18,270,000 17,070,000 1,200,000
=E~UE24 NS E 970,000 700,000 270,000
401 Al HI YL 2 0HHI 970,000 700,000 270,000
01 A& HI 970,000 700,000 270,000
OFE&~UE2H AME SILHE (L=470m) 970,000 700,000 270,000
2 AW MMotA 1,450,000 1,200,000 250,000
401 Al HI L 2 0HHI 1,450,000 1,200,000 250,000
01 A& HI 1,450,000 1,200,000 250,000
OZM MItE (L=50m) 1,450,000 1,200,000 250,000
TS 2 2,630,000 2,630,000 0
401 Al HIL 20| 950,000 750,000 200,000
01 Al& Bl 930,000 730,000 200,000
ogg=s & dEX=EE 200,000 0 200,000
402 Q12F X2 0| & 473,000 0 473,000
02 QI2HCHSH AFS HI 473,000 0 473,000
ogd=z o d&8XSE 473,000 0 473,000
403 ItXISHM S K201 & 1,127,000 1,800,000 A 673,000
02 S| 2SO0l CHStCH & At bl 1,127,000 1,800,000 A 673,000
ogys & M= 1,127,000 1,800,000 A 673,000
SHEZ20H4A 3,480,000 3,000,000 480,000
401 AlEHI L 201 HI 3,480,000 3,000,000 480,000
01 A& bl 3,480,000 3,000,000 480,000
O30 XNEZ SHEA (L=200m) 350,000 300,000 50,000
Oggr N2 &S A (L=320m) 500,000 300,000 200,000
Oz StLE (LA 14]) 80,000 0 80,000
MEH OHEZ HU(II=2XF) 150,000 0 150,000
M=l Fal 2,100,000 1,900,000 200,000
401 Al HI L 2 0HHI 2,100,000 1,900,000 200,000
01 A& HI 2,100,000 1,900,000 200,000
OQuERI B=(14!) 500,000 300,000 200,000
2B 4,744,380 4,554,380 190,000




A R =y
FH: Mg HE X (+SLWE/ER)
ool ERES (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2
= 80,000 0 80,000
Al 4,664,380 4,554,380 110,000
E2Es ¥ 2F 4,259,500 4,089,500 170,000
=) 80,000 0 80,000
Al 4,179,500 4,089,500 90,000
401 Al HIZ 201 8] 4,090,000 3,920,000 170,000
=) 80,000 0 80,000
Al 4,010,000 3,920,000 90,000
01 A& HI 4,080,000 3,910,000 170,000
ONBEE=2F 7 E HI(L=40m) 40,000 0 40,000
O&YEST ZFdl(L=500m) 50,000 0 50,000
OH2=2 &I (L=56m)(ZZHEH) 80,000 0 80,000
< 80,000 0 80,000
OANESHE =23 1,250,000 1,000,000 250,000
—S8XYE E2EFH 500,000 250,000 250,000
ONEsSHEEZ =& 2,660,000 2,910,000 A 250,000
— 25585 s FHI(9HA) 0 90,000 /90,000
— 22 = 2 F | (L=680m) 90,000 0 90,000
—ugsg=2 Fdl(L=1,300m) 0 250,000 A 250,000
g 2el 20,000 0 20,000
401 Al HIZ 201 Y] 20,000 0 20,000
01 A& HI 20,000 0 20,000
OFEFYNMANEEHDIAISA(14]) 20,000 0 20,000
FAX N (ZELXNEML/XNSL Al 8,143,869 6,217,869 1,926,000
< 296,250 6,250 290,000
Al 7,847,619 6,211,619 1,636,000
Fag= LS| 418,869 417,869 1,000
= 6,250 6,250 0
Al 412,619 411,619 1,000
AL F el 99,769 98,769 1,000
201 et 45,660 44,660 1,000
02 2324l 1,000 0 1,000
OE=Ea2MA ANEFZ2+=2HE 23 1,000 0 1,000
PR = 7,725,000 5,800,000 1,925,000
< 290,000 0 290,000
Al 7,435,000 5,800,000 1,635,000
NI (H2AS) 725,000 420,000 305,000
< 130,000 0 130,000
Al 595,000 420,000 175,000
401 AIEHI L 2] 725,000 420,000 305,000
= 130,000 0 130,000
Al 595,000 420,000 175,000
01 A& HI 725,000 420,000 305,000




SN AL D
M FOK WY (BELNA ML/ NALEAI
Sl XSy (el @ e)
SN B SR(EH) - MBAY - BES 0l &t o p/E-T HDE2
O & 802 F bl (L=270m) 30,000 0 30,000
O 252yl (L=150m) 30,000 0 30,000
O =2 0+ 20 F Bl (L=500m) 30,000 0 30,000
O & M & B dl (L=70m) 30,000 0 30,000
O 2= 0+ & bl (L=200m) 30,000 0 30,000
ONE - BelotS o2 F I (L=350m) (XY & & 90,000 0 90,000
< 90,000 0 90,000
OFSAMEI Y (L=150n) (Z L W) 40,000 0 40,000
< 40,000 0 40,000
OZ & S )42 =l (L=70m) 25,000 0 25,000
NN (st g) 430,000 400, 000 30,000
401 Al HI YL = TH I 430,000 400,000 30,000
01 A&l 430,000 400,000 30,000
OO0k 02 F 1l (L=80m) 30,000 0 30,000
N (R=e) 480,000 380, 000 100,000
401 Al HI L =2 Tl 480,000 380,000 100,000
01 A&l 480,000 380,000 100,000
Ol Ml & =l (L=100m) 30,000 0 30,000
O 2= 2 T & (L=120m) 30,000 0 30,000
OMEAMS~HZME 2 12 E 2 N4 (L=80n) 40,000 0 40,000
N (A SB) 640,000 440,000 200,000
< 110,000 0 110,000
Al 530,000 440,000 90,000
401 Al HI L 2 THHI 640,000 440,000 200,000
< 110,000 0 110,000
Al 530,000 440,000 90,000
01 A&l 640,000 440,000 200,000
O22 =2 T & (L=200n) 30,000 0 30,000
OEZ=2F Y| (L=450n) (Z L W) 110,000 0 110,000
< 110,000 0 110,000
OXBOIZ MYET2 T H(L=250n) 30,000 0 30,000
OZS(2g)o2 M= H (L=500m) 30,000 0 30,000
NPT E PSR D 390,000 350,000 40,000
401 Al HI L =2 Tl 390,000 350,000 40,000
01 A&l 390,000 350,000 40,000
OLIt0E 2422 Il (L=230m) 40,000 0 40,000
RO (ALY BE) 705,000 515,000 190,000
401 Al HI L 2 THHI 705,000 515,000 190,000
01 A&l 705,000 515,000 190,000
OYDH o+ Hl(L=35m) 30,000 0 30,000
OQI= M@ & bl (L=160m) 40,000 0 40,000




SN ALD
Ha: HoX WS (TELXAML/NALEAI)
SE R (el @ e)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
ORI M & =l (L=160m) 40,000 0 40,000
O&e =2 Il (L=50n) 30,000 0 30,000
O 252 F bl (L=160m) 30,000 0 30,000
O=2& =23 bl (L=100m) 20,000 0 20,000
Nehg(eHae) 580,000 480,000 100,000
1 AlZH 2 O 580,000 480,000 100,000
01 Al 580,000 480,000 100,000
S X 52 I H(L=200n) 30,000 0 30,000
OBZ0E FURZL(ZXE14) 120,000 50,000 70,000
Tefg (aeel) 720,000 545,000 175,000
< 50,000 0 50,000
Al 670,000 545,000 125,000
401 A& HI L 2O bl 720,000 545,000 175,000
< 50,000 0 50,000
Al 670,000 545,000 125,000
01 Al&H 720,000 545,000 175,000
OOHaHs 2 JH 4 (L=160m) 50,000 0 50,000
ONS X Y2 = H(L=800m) (F S LY H) 50,000 0 50,000
< 50,000 0 50,000
OSES 212 =Y (2M4) 25,000 0 25,000
O 0] ! 0+ 2 F H| (L=30m) 50,000 0 50,000
WEP EESS=D 580,000 380,000 200,000
401 Al HI L 2Ol 580,000 380,000 200,000
01 Al&H 580,000 380,000 200,000
O Z0h2 02 H | (L=200m) 60,000 0 60,000
O Al = Bl (L=100m) 30,000 0 30,000
O &l 5 tH 4 2 J 8l (L=60n) 30,000 0 30,000
OOt B4 2l (L=100m) 25,000 0 25,000
O2&S th4Z = bl (L=100m) 25,000 0 25,000
O & Z b 4 2 F 8] (L=120n) 30,000 0 30,000
NEPIEE L) 580,000 390,000 190,000
401 A& H L 20l 580,000 390,000 190,000
01 Al&H 580,000 390,000 190,000
0SS IBHE 2 ZAMsZFHI(L=100n) 30,000 0 30,000
OSarok 2 J Bl (L=100m) 20,000 0 20,000
OS=0t2 22 F bl (L=300m) 30,000 0 30,000
O%s 52& i+ 23 Hl(L=200m) 30,000 0 30,000
OSS M &= bl (L=150m) 50,000 0 50,000
O o5 2 F H| (L=300m) 30,000 0 30,000
Tefg(2ee) 490,000 350,000 140,000
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L= B

el

bl =]
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HE (2 ELRGHL /XY
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bl

=y
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
401 Al HI L 20l 490,000 350,000 140,000
01 Al&HI 490,000 350,000 140,000
O = Al @ 3 Hl (L=50m) 60,000 0 60,000
O£ Eh s 2 T & (L=200n) 30,000 0 30,000
OZ20tg 42 FHl(L=90n) 50,000 0 50,000
NENETHIS) 150,000 110,000 40,000
401 Al HI L 2Tl 150,000 110,000 40,000
01 Al&HI 150,000 110,000 40,000
OSZIS o2 F(L=120n) 20,000 0 20,000
O8Z2S =23l (L=230n) 20,000 0 20,000
X oHe (Lol S ) 287,000 200,000 87.000
401 Al HI L 2Ol 287,000 200,000 87.000
01 Al&HI 287,000 200,000 87,000
OOl 145 tH 4= 2 bl (L=40m) 40,000 0 40,000
OWOIBS DS o2 2 b+ 2 F tl (L=40m) 20,000 0 20,000
OLj0I6S o2 2 & & (L=140m) 147,000 120,000 27,000
e (4es) 163,000 50,000 113,000
401 Al HI L 2l 163,000 50,000 113,000
01 Al&H 163,000 50,000 113,000
O& &0+ 2 F bl (L=320m) 33,000 0 33,000
O&23,98 HE I (3ML) 60,000 0 60,000
O& 82,55 o2 3t (L=320n) 20,000 0 20,000
AR2X 685,000 670,000 15,000
401 Al & HI L S O 675,000 660,000 15,000
01 Al&HI 665,000 650,000 15,000
O& A& Al 115,000 100,000 15,000
UBHS MO ENL (ZELTANL/NSL T A 1,572,000 1,572,000 0
py 1,100,000 1,100,000 0
< 141,000 141,000 0
Al 331,000 331,000 0
=EH 1,572,000 1,572,000 0
Py 1,100,000 1,100,000 0
= 141,000 141,000 0
Al 331,000 331,000 0
St EAMA SEFEIAY 1,572,000 1,572,000 0
py 1,100,000 1,100,000 0
= 141,000 141,000 0
Al 331,000 331,000 0
401 A& HI L 2Ol 1,572,000 1,572,000 0
X 1,100,000 1,100,000 0
= 141,000 141,000 0




2N
X ZH -
L= B

el

A4
AN MO ENL (FELT SN L /XS LT Al
SEY

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
Al 331,000 331,000 0
01 A& HI 1,562,000 1,572,000 A 10,000
Ootds 2MX S&EHI 1,562,000 1,572,000 A 10,000
X 1,093,000 1,100,000 A7,000
& 140,100 141,000 A 900
Al 328,900 331,000 A 2,100
03 AlE 2 THHI 10,000 0 10,000
OdtgdSaMX S & 10,000 0 10,000
Xl 7,000 0 7,000
< 900 0 900
Al 2,100 0 2,100
YA (AL D) (IIEHIIE) 491,566 485,806 5,760
= 250,396 208,970 41,426
Al 241,170 276,836 N 35,666
erE 2l 380,566 380,566 0
=) 250,396 208,970 41,426
Al 130,170 171,596 AN41,426
E2FZ23 380,566 380,566 0
=) 250,396 208,970 41,426
Al 130,170 171,596 AN41,426
101 1Al 380,566 380,566 0
=) 250,396 208,970 41,426
Al 130,170 171,596 AN41,426
03 RIAHA22RHE 380,566 380,566 0
OE2ExE 380,566 380,566 0
— &0z 90,811 90,811 0

g 22,366,400 *4/12«11Y 82,011 82,011

< 41,426 0 41,426
Al 40,585 82,011 N41,426
P E F | 400,000& 23«11 8,800 8,800 0
| =3l 111,000 105,240 5,760
Jl=dl 111,000 105,240 5,760
202 Oddl 80,760 75,000 5,760
01 = LH 4 HI 80,760 75,000 5,760
O=U o di 80,760 75,000 5,760
HRas(H4)(IJ1EH/IIE 34,469 0 34,469
RSN 34,469 0 34,469
EMdXE 34,469 0 34,469
802 Er&t 32 J| EF 34,469 0 34,469
02 Al - EHIEXZSEHEZ 34,469 0 34,469
020138 &g oes M2 =2 F 13,697 0 13,697
020128 At HEE =2 I 6,258 0 6,258
Ootg =2 =L & (L=200m) 14,514 0 14,514




